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H (00) H (00) H (00 H (00) H (00 H (00)
S 244F 96. 2 0.0 96. 3 0.1 96. 2 0.4
25 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99.1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 -0. 1 100. 0 0.0 99.7 -0.3
28/7 99. 6 -0.4 -0.2 99. 6 -0.4 -0.1 99.5 -0.8 -0.1
8 99.7 -0.5 0.0 99.9 -0.3 0.3 99. 6 -0.8 0.1
9 99. 8 -0.5 0.2 99.9 -0.4 -0.1 99. 6 -1.0 0.1
10 100. 4 0.1 0.6 100. 8 0.5 0.9 100. 1 -0.2 0.4
11 100. 4 0.5 0.0 100. 7 0.9 0.0 100. 0 0.1 0.0
12 100. 1 0.3 -0.2 100. 6 0.9 -0.1 99.9 0.2 -0.1
29/1 100.0 0.4 -0.2 100. 4 0.9 -0.2 99.9 0.5 0.0
2 99. 8 0.3 -0.1 100. 2 0.6 -0.2 99.5 0.0 -0.4
3 99.9 0.2 0.1 100. 2 0.6 0.0 99. 3 -0.3 -0.1
4 100. 3 0.4 0.4 100. 3 0.4 0.1 99. 7 0.2 0.4
5 100. 4 0.4 0.1 100.5 0.6 0.2 100.0 0.2 0.3
6 100. 2 0.4 -0.1 100. 3 0.6 -0.2 99. 8 0.2 -0.2
7 100. 1 0.4 -0.2 100. 3 0.6 0.0 99. 7 0.2 -0.1

[ T K& I
LRl LRl LRl

A & #% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
L (%) © (%) L (%) (%) L (%) © (%)

244 96.8  -0.2 96.2  -0.3 96.6 0.2

25 96.9 0.2 96.1 0.1 96.6 0.0

26 99.4 2.5 98.5 2.5 99.3 2.7

27 100.0 0.6 100. 0 1.5 100.0 0.7

28 99.9 0.1 100.0 0.0 100.0 0.0
28/6 99.9 -0.3 -0.1| 100.2 0.0 0.1 ] 100.1 0.0 0.1
7 99.7 0.4 0.3 99.7 0.3 0.5 99.8 0.4 0.3
8 99.7  -0.5 0.0 99.7  -0.3 0.0 99.9  -0.3 0.1
9 100.1  -0.4 0.4 99.8  -0.9  0.1| 100.3 0.0 0.4
10 100.5 0.0 0.5 | 100.6 0.1 0.9 | 100.5 0.3 0.1
11 100.6 0.7 0.0 | 100.5 0.5 0.1 | 100.2 ~ 0.2  -0.2
12 100. 1 0.6 0.4 | 100.3 0.3 -0.3| 100.0 0.1 0.3
29/1 100. 2 1.0 0.0 100.0 0.3 -0.2| 100.2 0.7 0.2
2 100.2 0.9 0.1 99.8 0.0 0.2 99.7 0.2 0.4
3 100. 1 0.6 -0.1 99.8 0.1 0.0 99.9 0.3 0.2
4 100.2 0.2 0.0 | 100.3 0.2 0.6 | 100.3 0.2 0.4
5 100.5 0.5 0.3 | 100.4 0.3 0.1 | 100.4 0.2 0.1
6 100.5 0.6 0.0 | 100.3 0.1 0.2 | 100.3 0.2 0.1
7 100.2 0.6 -0.3 | 100.2 0.5 -0.1| 100.3 0.5 0.0
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L) (%) L) L (%) L) (%) L) L (%) L) (%) L (%) ! (%) L) (%)
VEZAY 10000 2617 1862 753 374 437 424
244F | 96. 3 0.1 92.2 -0.1 100.3 -0.4 96. 0 4.0 96. 8 0.3 98.9 0.3 98.5 -1.0
254F | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 -2.1 99. 8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274E [100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F [100. 0 0.0 101.8 1.8 99.8 0.2 94.9 -5.1 99.9 0.1 102.7 2.7 100.5 0.5
28/7|99.6 -0.4 -0.1[100.9 1.0 0.199.8 -0.2 0.0 |941 -57 -0.4|99.6 0.0 1.6[100.8 2.8 -1.7[10L.1 1.0 0.2
8 [99.9 -0.3 0.3[1020 10 1.1[9.8 -0.2 0.0[937 5.4 -0.5|99.6 1.1 0.1[100.9 4.0 0.1[100.8 0.5 -0.3
9 [99.9 -0.4 -0.1[101.5 0.2 -0.5|99.7 -0.2 -0.1|93.4 -5.0 -0.3[100.3 0.7 0.6 |105.1 3.2 4.1 |100.3 -0.5 -0.5
10 [100.8 0.5 0.9 1036 2.8 2.0|9.8 -0.4 0.0[95.0 -3.0 18|03 -0.3 1.1[1052 27 0.2|100.8 0.5 0.5
11 [100.7 0.9 0.0[103.1 3.4 -0.4|99.7 -0.5 -0.1|95.4 -2.7 0.4 [99.9 -0.4 -1.4[106.1 3.3 0.8[10L0 1.1 0.2
12 {100.6 0.9 -0.1[102.6 2.9 -0.5|99.6 -0.2 -0.1[95.8 -1.9 0.5 |10L.4 -0.3 1.5 (1049 2.8 -1.1|100.7 0.7 -0.3
29/1|100.4 0.9 -0.2 1029 1.8 0.399.9 0.1 0.2]9.1 -0.3 0.3100.3 0.2 -1.1[10L1 1.2 -3.6[100.5 0.7 0.2
2 |100.2 0.6 -0.2[1024 0.7 -0.5|99.5 -0.2 -0.4|96.9 1.2 0.8]989 -0.6 -1.3|10L0 1.3 -0.2|100.0 0.3 -0.5
3 [100.2 0.6 0.0[1023 0.7 0.0|9.4 -0.4 -0.1[97.6 2.7 0.7]980 -l.1 -0.9 [100.4 -1.1 -0.5|100.6 0.5 0.5
4 [100.3 0.4 0.1[101.8 0.4 -0.5|99.4 -0.4 0.0|985 41 10980 -3.0 0.0[1030 0.0 2.5|100.4 0.4 -0.1
5 [100.5 0.6 0.2[10L8 0.4 0.0|9.4 -0.5 0.0[99.9 50 14|97.5 -1.3 -0.6 (1039 1.0 0.9 100.8 0.3 0.4
6 [100.3 0.6 -0.2[i01.6 0.8 -0.2|99.4 -0.4 0.0[100.3 6.1 0.4[986 0.5 1.1 |1040 1.4 0.1|100.2 -0.6 -0.6
7 [100.3 0.6 0.0[101.4 0.5 -0.2|99.4 -0.4 0.0 [100.1 6.4 -0.2[10L.5 1.9 3.0[1025 1.6 -1.5|100.4 0.7 0.2
%@ - miE | & ol &% omox | BB 2 |seeanrkes[THREROSIY
LR R LR R LR R
A B (AR RUAK| R B (AA) RIAK|HE B (AA) Ak 0 (AA) sAK|RE 3 (AA) MiAk|HE & (AA) AAk
Lo Ul Lo Ul Lo Ul
L (%) (%) L (%) (%) L (%) (%) L (%) (%) L (%) (%) L (%) (%)
VEZE 1735 213 906 679 9581 8698
244F | 98. 8 0.4 96. 6 0.4 95.8 -1.2 94.5 -0.1 96. 9 0.2
254F [100. 1 1.4 97.2 0.6 94.8 -1.0 95. 4 1.0 97.2 0.3
264F [102. 7 2.5 98.8 1.7 98.1 3.5 98.8 3.6 99. 4 2.3
27$ 100.0 -2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100.0 0.6 100. 0
284E [ 97.7 -2.3 101. 4 1.4 101. 1 1.1 101. 1 1.1 99.7 -0.3 100. 6 0.6
28/7198.0 -3.0 -0.4 |101.8 1.4 0.1 [100.8 0.8 0.2 [101.1 1.6 0.199.6 -0.6 0.0 [100.4 0.4 0.1
8 97.7 -2.7 -0.3 [101.8 1.4 0.0 [101.8 0.7 1.0 [101.0 1.1 -0.1199.6 -0.4 0.0 [100.6 0.5 0.2
9 97.3 -2.5 -0.4 [101.8 1.4 0.0 |101.3 1.2 -0.4 [101.5 1.1 0.5199.5 -0.6 -0.1 [100.5 0.1 -0.1
10 [97.7 -1.8 0.4 [101.8 1.4 0.0 |102.5 1.8 1.1 [101.1 0.9 -0.4 (100.0 -0.2 0.5 [100.9 0.4 0.5
11 98.3 -0.9 0.6 [101.8 1.4 0.0 [102.4 1.8 -0.1 [101.0 0.7 -0.1 [100.2 0.1 0.2 [101.0 0.5 0.1
12 [98.7 -0.4 0.4 [101.8 1.4 0.0 [101.6 1.6 -0.8 [101.4 1.0 0.5 [100.3 0.2 0.0 [100.9 0.5 -0.1
29/1198.2 0.7 -0.5 |101.8 1.4 0.0 [100.9 1.0 -0.7 |101.6 0.9 0.2 [100.0 0.5 -0.3 |100.6 0.3 -0.3
2 98.1 1.1 -0.1 [101.8 1.5 0.0 |101.2 1.4 0.4 [101.0 0.2 -0.6[99.9 0.5 -0.2 |100.3 0.1 -0.3
3 97.7 0.7 -0.4 |101.8 1.5 0.0 |101.7 1.6 0.4 [101.7 1.0 0.7 [100.0 0.6 0.1 [100.4 0.0 0.0
4 98.2 0.6 0.5 [102.3 0.6 0.5 [101.4 0.0 -0.3 |101.9 0.4 0.2 (100.2 0.4 0.2 (100.5 -0.2 0.2
5 98.2 0.6 -0.1 |103.3 1.5 0.9 |101.7 0.9 0.3 [101.7 0.5 -0.2 [100.4 0.7 0.2 [100.7 0.2 0.2
6 97.9 -0.5 -0.3 [103.3 1.5 0.0 [100.8 0.3 -0.8 |101.4 0.4 -0.3 [100.4 0.8 0.0 [100.7 0.4 0.0
7 97.8 -0.2 -0.1 [103.3 1.5 0.0 [100.9 0.1 0.1 (101.0 -0.1 0.4 |[100.4 0.8 0.0 [100.8 0.4 0.1
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28/7| 99.6 [100.9 1101.7 1104.9 ! 97.5 1100.0 ! 98.0 $103.2 1102.4 1101.7 1100.5 '101.5 : 98.6 '101.3 | 99.8 ! 99.6 :100.6 ! 94.1
8 |99.9 [102.0 99.8 5107.6 5100.2 5101.4 5100.2 5114.7 5101.4 5101.6 5100.4 5101.9 98.9 5101.3 99.8 99.6 5100.6 93.7
9 | 99.9 |101.5 1100.5 1108.5 1 96.8 1100.9 1106.2 i 99.7 1100.8 1100.9 | 99.6 1101.7 1 99.1 1101.1 | 99.7 : 99.6 1100.2 i 93.4
10 {100.8 [103.6 1102.4 '104.5 1 99.6 1100.1 1121.1 :110.3 1101.7 11015 | 98.1 1102.6 ® 99.9 1101.3 | 99.8 | 99.6 !100.3 | 95.0
11 [100.7 [103. 1 2102.3 5102.0 99.9 5100.3 2116.7 5104.4 2101.0 5103.6 ilOO.Z 5102.4 2100.9 5101.2 99.7 99.5 5100.4 95.4
12 |100.6 [102.6 1102.6 1105.0 i 99.8 1100.6 1107.6 1109.4 1101.2 1104.0 | 99.8 1102.2 1 99.0 1101.2 | 99.6 | 99.5 1100.2 | 95.8
29/1(100. 4 [102.9 5101 1 5105.0 5102 1 §1oo 6 5105.2 5116 8 5101 1 5104.4 5100.4 5101.7 5100 1 5101.2 99.9 99.5 5101.5 96. 1
2 [100.2 [102.4 1102.1 1104.3 1103.5 1 99.5 1104.8 1112.1 1102.1 1101.9 1 99.0 1102.0 } 99.8 1101.2 | 99.5 1 99.1 1101.3 | 96.9
3 {100.2 (1023 1102.2 1105.0 104.7 } 99.1 11009 {112.8 {101.4 !104.3 } 99.1 {1017 }100.0 {101.2 | 99.4 | 99.1 :100.7 | 97.6
4 [100.3 [101.8 5100.3 5106.4 5107.8 5100.1 99.6 5103.3 5101.8 5103.1 97.4 5101.5 ilO0.0 5101.2 99.4 99. 1 5100.9 98.5
5 [100.5 [101.8 1102.7 1103.8 1106.7 ! 98.3 | 99.0 '106.7 1100.5 1103.8 | 98.6 11017 1100.0 :101.1 | 99.4 1 99.1 1100.9 | 99.9
6 [100.3 [101.6 2100.7 5104.9 2109.3 98.4 96. 4 5102.2 iloo.s 5102.7 98. 2 5100.9 2102.6 5102.1 99.4 99. 1 5100.9 100. 3
7 |100.3 [101.4 1100.3 1105.0 1106.3 ! 97.8 ! 94.9 '100.6 !102.6 '103.6 | 99.5 1100.4 1103.5 '102.1 | 99.4 ! 99.1 1100.9 ! 100. 1
ES B
P I A I O I R I = B = B B S v
- A mT®E]| o [T ] T
¥ | | aE
. ? v | A MR v
G | % x | A P N
H % = fiif e 1H | | |
i = e i £ . & T §|7
gl Lol m lw e | mlslslx|lols | wle| 5| |
28/7] 94.2 92.8 77.2 §1oo.o 99.6 95.8 96. 2 5108.7 5101.5 5100.5 99.8 |100.8 5101.7 §1oo.o 5101.9 95.0 92.7 100. 4
8 [93.8192.0176.01100.0 | 99.6 1 96.7 1100.4 1108.7 1100.8 i 99.2 1 99.8 [100.9 1101.7 1100.0 1102.0 | 95.1 1 92.9 1 100. 4
9 |93.6190.7 76.8 1100.0 |100.3 ! 97.2 1101.6 1106.6 1103.0 | 99.8 | 99.8 |[105.1 '104.3 1100.0 1105.1 | 105.4 ! 106.6 | 102.5
10 | 93.6 90. 6 76.8 5107.3 101.3 5103.0 98.7 99.4 5104.5 98.4 99.8 [105.2 5106.4 §1oo.o 5107.6 105. 1 5105.7 103. 6
11 |93.6 190.7 1 81.5 1107.3 | 99.9 1 98.2 1101.5 1101.7 1104.3  97.5 1 99.8 [106.1 1107.7 1100.0 1109.1 | 102.0 :103.5 : 98.5
12 | 93.7 90.9 87.3 5107.3 101. 4 5103.6 97.7 5102.0 2104.3 97.5 99.8 |104.9 2105.0 §1oo.o 2105 8 | 100.9 5102.3 97.7
29/1] 93.9 91.1 88.9 5107.3 100. 3 99.7 97.2 5102.0 2102.1 99.8 99.6 |101.1 2102.7 §1oo.o 2103.2 93.1 90. 4 99.5
9 | 94.8191.4192.81107.3 | 98.9 1 96.2 | 95.3 1101.7 1102.8 | 98.7 | 99.6 |101.0 }101.4 1100.0 }101.7 | 95.2 | 93.0 | 100.3
3 | 96.0 91.8 92.8 5107.3 98.0 94.3 92.4 5101.5 5103.4 97.7 99.8 |100.4 5102.2 §1oo.o 5102.6 93.8 92.6 96. 6
4 [ 97.7192.2192.81107.3 | 98.0 ! 92.8 ! 93.7 1102.1 1103.1 ! 99.4 | 99.8 [103.0 1103.7 ! 97.0 1104.8 | 101.7 !103.3 | 97.8
5 |100.2 92.6 92.4 5107.3 97.5 93.1 90. 0 5102.6 5102.8 97.6 99.8 |103.9 5105.1 97.0 5106.5 102.9 5106.1 95.5
6 [100.9192.7 92,4 1107.3 | 98.6 1 98.4 1 92.4 1102.6 1101.8 1 95.6 1 99.8 [104.0 1105.0 : 97.0 1106.4 | 103.7 1106.9 | 96.2
7 |100.7 92.8 90.8 5107.3 101.5 5107.2 90.3 5101.2 2102.2 96.9 99.8 |102.5 2103.1 97.0 2104.1 99. 4 5100.4 97.1
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28/7 [105.1 1106.5 1102.2 [101.1 1102.9 | 99.3 1100.9 | 98.0 1102.2 | 97.1 | 99.1 |101.8 }102.9 1100.2 1100.0 [100.8 {103.3
8 |105.1 1106.5 1103.3 [100.8 '101.5 ¢ 99.9 1100.9 | 97.7 1104.8 ! 96.4 ! 99.1 [101.8 1102.9 1100.2 1100.0 |101.8 {101.4
9 |105.1 1108.8 !104.0 [100.3 | 99.8 | 99.6 1100.9 | 97.3 1100.0 ! 96.9 | 97.7 [101.8 }102.9 !100.2 1100.0 [101.3 {101.2
10 | 99.0 1115.0 1 99.4 [100.8 1101.1 : 99.1 1101.3 | 97.7 1100.2 ¢ 97.5 1 97.6 |101.8 1102.9 1100.2 1100.0 {102.5 {102.8
11 [103.5 1116.3 1104.0 |101.0 !101.6 | 99.5 '101.3 | 98.3 | 99.2 | 98.5 | 97.6 |101.8 1102.9 1100.2 1100.0 |102.4 {102.5
12 [106.7 i117.1 1103.3 [100.7 1100.9 1 99.2 1101.3 | 98.7 1 99.7 1 99.1 i 97.6 |101.8 1102.9 1100.2 1100.0 |{101.6 {100.7
29/1106.7 1106.8 1104.0 [100.5 | 99.9 | 99.7 1101.3 | 98.2 | 98.9 | 98.8 | 96.7 [101.8 1102.9 1100.2 1100.0 [100.9 |{101.5
2 |106.7 1105.0 1104.0 [100.0 & 98.4 ! 99.3 1101.3 | 98.1 1 99.0 ! 99.4 i 95.0 [101.8 1102.9 1100.9 1100.0 |101.2 {106.4
3 | 98.2!112.6 !104.0 [100.6 | 99.0 !101.0 !101.3 | 97.7 1100.5 | 99.5 ! 92.6 [101.8 '102.9 !100.9 !100.0 |101.7 {105.2
4 | 99.4 1108.1 1104.0 {100.4 1100.0 ¢ 99.1 1101.3 | 98.2 1 98.8 1 99.3 1 95.4 [102.3 1103.7 1101.0 1100.0 |101.4 {105.4
5 | 99.4 1108.1 1104.0 [100.8 1102.1 | 97.9 1101.3 | 98.2 1 99.1 ! 99.1 ! 95.6 |103.3 '105.2 1101.0 1100.0 |101.7 {103.6
6 | 99.41108.1 1102.9 [100.2 1 99.8 1 98.4 1101.3 | 97.9 1 98.7 1 98.5 1 96.2 |103.3 1105.2 1101.0 1100.0 |100.8 {100.9
7 [102.7 1108.1 !102.9 |100.4 1100.6 | 98.1 !101.3 | 97.8 '101.9 : 98.0 ! 96.2 [103.3 }105.2 !101.0 !100.0 [100.9 | 99.6
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28/7| 99.6 1100.4 1101.1 [101.1 !100.0 | 99.0 '106.3 !101.6 [101.4 | 91.2 |101.9 [101.1 | 98.9 |101.2 !107.3 | 95.8 1102. 4
8 |100.7 1100.6 1102.6 [101.0 1100.0 ¢ 98.8 1105.6 1101.7 1101.4 | 89.8 {101.9 [102.3 | 98.9 |107.0 1111.2 } 99.0 1114.5
9 |101.7 1100.4 1101.4 [101.5 1100.0 1100.0 }107.9 1101.7 1101.4 | 90.2 |101.9 |101.4 | 98.9 |108.0 '115.5 |108.3 | 98.7
10 [103.7 1100.5 1102.3 [101.1 1100.0 i 98.6 1107.2 1101.7 1101.4 | 91.0 [101.9 |102.5 | 98.8 |118.0 1107.6 1131.1 1109.9
11 [104.0 1100.5 1102.1 |101.0 1100.0 ! 98.4 1106.5 '101.7 '101.4 | 92.5 [101.9 |102.3 | 98.8 [112.1 1103.8 1123.9 1103.7
12 |102.2 1100.4 1101.6 |101.4 [100.9 | 98.0 }110.9 (101.7 1101.4 | 93.7 [102.8 |101.6 | 98.8 |109.2 1109.1 109.3 1108.9
29/1{100.5 1100.7 '101.0 [101.6 !100.9 | 99.2 1110.2 }101.7 !101.4 | 93.9 [{102.3 |[100.8 | 98.4 110.0 }110.1 }105.7 }116.6
2 |100.5 1100.7 1101.2 |{101.0 1100.9 ¢ 97.5 1107.6 1101.7 1101.4 | 95.3 {102.4 |[101.1 | 97.8 |107.8 1108.7 1104.7 1111.7
3 |102.1 1100.6 1101.4 |101.7 1100.9 1100.5 1108.1 !101.7 1101.4 | 96.2 [102.5 |101.7 | 97.8 |105.3 1108.3 | 98.4 1112.4
4 | 99.0 1100.6 1102.3 |101.9 1100.6 1100.4 1107.6 1102.4 {101.9 | 97.0 |102.9 [101.1 | 97.8 |102.5 1110.0 | 96.7 1102.6
5 |100.5 1100.8 1102.2 |101.7 1100.6 1100.2 1106.1 1102.4 1101.9 [ 97.7 {103.5 {101.4 | 97.9 |101.4 1106.0 ! 94.9 1106.1
6 | 99.0 1100.9 !101.7 |101.4 {100.6 | 99.1 !105.6 }102.4 '101.9 | 96.9 [103.5 [100.4 | 97.9 | 98.8 1107.3 | 90.6 !101.3
7 | 99.0 1100.9 101.9 |101.0 1100.6 | 98.6 1102.6 1102.4 :101.9 | 96.1 |103.5 [100.8 | 97.9 | 97.6 :107.5 | 88.7 } 99.7




